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EXAM PAPERS PRACTICE

Fractions

Model Answers
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Exam Papers Practice
Question 1

Work out the value of - 1.3
2 8
- 13
2 8
Answer
~1_ 3 T
37 % B
1 3 1 3
“27T§ —27T 3§
Least common multiple of 2 and 8 is 8. Convert % and % to Least common multiple of 2 and 8 is 8. Convert é and % to
fractions with denominator 8. fractions with denominator 8.
_4 3 I
8 8 8
1.3 _4 .3
77T 8 s T3
Since % and % have the same denominator, subtract them by Since ‘51 and % have the same denominator, add them by adding
subtracting their numerators. their numerators.
—1=3 7
B 8
1 3 —4+3
375 s
Subtract 3 from —4 to get — 7. Add —4 and 3 to get — 1.

[
ol = cel =1

Divide —{_ by —% by multiplying —f: by the reciprocal of —%

7
~5(-8)

Express —_fj [—8:] as a single fraction.

~7(-8)
8

Multiply —7 and —8 to get 56.

56

8

Divide 56 by 8 to get 7.
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Exam Papers Practice

Question 2

Write down all the working to show that 5 3 =3l (3]

Multiply both sides of the equation by 6.
Py K Y Add 9 and 10 to get 19,

3 2
_ 19

Least common multiple of 5 and 3 is 15. Convert % and % to Cancel out 15 and 15.

fractions with denominator 15.

9 10 19=3x6+1
Multiply 3 and 6 to get 18.
Since lq—j and % have the same denominator, add them by adding
their numerators, 19 =18 is 1
8 1 to get 19.
9 + 10 Add 18 and g
15 x =3x6+1
15
19=19
Compare 19 and 19.
Question 3 True
e T
Multiply both sides of the equation by 36, the least common multiple
. ] 1 1 1 3 of2,3,4,0.
5 Jiwanincorrectly wrote 1+ — + — + —=1—, TP
2 3 4 )

Add 36 and 18 to get 54.

54+12+9=4(1x9+3)

Add 54 and 12 to get 66.

66+9=4(1x9+3)

Add 66 and 0 to get 75.

T5=4(1x9+3)

Multiply 1 and 9 to get 9.

75 =4(9+3)

Add 9 and 3 to get 12,

THh=4x12

Multiply 4 and 12 to get 48,

75 — 48
| Compare T5 and 48,

False
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Question 4

32 92 1
o2 o 13 36
Show that 3 42 = — (2]
. 36 . Calculate 3 to the power of —2 and get %
Write down all the steps of your working.
1 0 13
Z492_ 22
9 - 36
Calculate 2 to the power of — 2 and get %
L1
9 4 36
Add zlj and ?ll to get é%
13 13
36 36
Compare %% and i—%
True
Question 5
Divid€ L’g_—a by Lgﬂ by multiplying 1‘9_973 by the reciprocal of
5.7 7 B
Show that l—=1=-= —.
9 9
(1x9+5)x9 7 [2]
Write down all the steps in your working. 9(1x9+7) 8

Cancel out 9 in both numerator and denominator.

ot

+9

7
7T+9 8

Add 5 and 9 to get 14.

Add 7 and 9 to get 16.

4 7

6 8

Reduce the fraction %é to lowest terms by extracting and canceling
out 2.

ool ~1

7
8

7 7
Compare g and 3.

True
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Question 6

(a) Find the value of x when 18_27 .
24 x
2 1 4
(b) Show that — +1—= —.
3 6 7
Write down all the steps in your working.
2.1 4
376 7

1x6+1

2x6 4

3(1x6+1) 7

Cancel out 3 in both numerator and denominator.

Compare ‘% and ‘I=1

True

Question 7

Show that i + IZ = 2i.
27 9

27

Write down all the steps in your working.

Divide % by Lg_—l by multiplying % by the reciprocal of ==

Answer

[1]
X=6
X =-6

[2]

Multiply both sides of the equation by 27, the least common multiple
of 27,9,

T+3(1x9+T)=2x27+1

Multiply 1 and 9 to get 9.

T+3(9+7)=2x27T+1

Add 9 and 7 to get 16.

(2]

T+3x16=2=x27T+1

Multiply 3 and 16 to get 48.

T+48=2x27+1

Add 7 and 48 to get 55.

5h=2x27T+1

Multiply 2 and 27 to get 54.

55 =54+1

Add 54 and 1 to get 55.

55 =55

Compare 55 and 55.

True
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Q ti 3 Exam Papers Practice
uestion

[1]

Write down the number which is 3.6 less than — 4.7 .

Answer

-8.3

Question 9

3 | 1
Showthat 3_+ | =5 _. (2]
4

3 12
Write down all the steps in your working.

Answer

3(3x4+3)+4(1x3+1)=5x12+1
3(12+3)+4(1x3+1)=5%x12+1
3x15+4(1x3+1)=5x12+1
45+4(1x3+1)=5x12+1
45+4(3+1)=5%12+1
45+4x4=5x12+1
45+16=5x12+1

61=5x12+1

61=60+1

61=061

Question 10

3a 4 2]
Write as a single fraction ? + E .

15a+32
40
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3(3×4+3)+4(1×3+1)=5×12+1
3(12+3)+4(1×3+1)=5×12+1
3×15+4(1×3+1)=5×12+1
45+4(1×3+1)=5×12+1
45+4(3+1)=5×12+1
45+4×4=5×12+1
45+16=5×12+1
61=5×12+1
61=60+1
61=61
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Question 11 5 sy Answer (1]
. 2,5-x
(a) Find the value of x. 37675 <=3
Answer [1]
(b) Find the value of y. 5.3, 4—0
3 9 y=8

Question 12

Without using your calculator, work out the following.
Show all the steps of your working and give each answer as a fraction in its simplest form.

@
12
® 7% 5

1x13
4x11

13

44

I 11 i
! uoi 2]
3 123

Divide 7 by 3 to get rl;i.

11
Re(+> — —i
(i3 ~ 37

The real part of}ﬁ,] %iis %

11

12

(2]

Divide :11 by % by multiplying 51[ by the reciprocal of %

1o(1
4 11

. - .
Multiply 7 times 77 by multiplying numerater times numerator and
denominator times denominator.

13

1x13

Do the multiplications in the fraction =57

I IT
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Question 13

2 11
Without using a calculator, work out 13 —735-
Write down all the steps of your working and give your answer as a fraction in its lowest terms. [3]

Multiply 1 and 3 to get 3.

3+2 11
3 15

Add 3 and 2 10 get 5.

5 11

3 15

Least common multiple of 3 and 15 is 15. Convert i and % to
fractions with denominator 15.

25 11
15 15

.95 .
Since ﬁ and % have the same deneminator, subtract them by

subtracting their numerators.

25 — 11
Question 14 15

.11 . Subtract 11 from 25 to get 14.
(a) Write 3 asa mixed number. [1]

Answer 14
= 3.666666667 15

1 5
(b) Without using a calculator, work out 4 + 12
Show all the steps of your working and give your answer as a fraction in its lowest terms. 2]

Least common multiple of 4 and 12 is 12. Convert % and 1% to
fractions with denominator 12.

3 5

12+12

Since ng and TJZ have the same denominator, add them by adding
their numerators.

3+5
12

Add 3 and 5 to get 8.

12

.8 . .
Reduce the fraction 15 to lowest terms by extracting and canceling
out 4.

W b

For more help, please visit our website www.exampaperspractice.co.uk
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Question 15

Without using a calculator, work out 1 3

Write down all the steps of your working and give your answer as a mixed number in its simplest form.

Exam Papers Practice
2,5

7

Multiply 1 and 3 to get 3.

3+2 5
—+

3 7

Add 3 and 2 to get 5.

377

Least common multiple of 3 and 7 is 21. Convert 3 and 3 to
fractions with denominator 21.

35 4 15
21 21

Since %—f and % have the same denominator, add them by adding
their numerators.

35+ 15
21

Add 35 and 15 to get 50.

50
21

For more help, please visit our website www.exampaperspractice.co.uk
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Question 16

Without using your calculator, work out % - (% - %)

You must show all your working and give your answer as a fraction in its simplest form.

Least common multiple of 4 and 3 is 12. Convert % and % to
fractions with denominator 12.

11 9 8
12 12 12

. ] 8 .
Since 13 and {7 have the same denominator, subtract them by
subtracting their numerators.

11 9-38

12 12
Subtract 8 from 9 to get 1.

11 1

12 12

Since % and le have the same denominator, subtract them by
subtracting their numerators.

11-1
12

Subtract 1 from 11 to get 10.

10
12

Reduce the fraction % to lowest terms by extracting and canceling
out 2.

| Wt

For more help, please visit our website www.exampaperspractice.co.uk
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Without using your calculator, work out 3 % + 22l .

You must show all your working and give your answer as a mixed number in its simplest form.

1 1 20

3-=2-

3 2 3(2x2+1)

221 3x3-1

Divide 3—§;1 by 5= by multiplying —r by the reciprocal of Multiply 2 and 2 to get 4
2491 -

9

20
(3x3+1)x2 34+1)
32x2+1)
Add4 and 1 to get 5
Multiply 3 and 3 to get 9.
20
3 x5
9+1) =2
3 (2 X2+ 1) Multiply 3 and 5 to get 15.
Add 9 and 1 to get 10. @
15
10 x 2 0 ) )
e Reduce the fraction 2 to lowest terms by extracting and canceling
3(2x2+1) out 5.

Question 18

Multiply 10 and 2 to get 20.

ol e

Without using a calculator, work out 6 . ;2

773"
Show all your working and give your answer as a fraction in its lowest terms.
6,2
7773

Divide £ by 2§*2 by multiplying § by the reciprocal of 1232,

6 x 3
T(1x3+2)

Multiply 6 and 3 to get 18,

18
T(1x3+2)

Multiply 1 and 3 to get 3.

18
7(3+2)

Add 3 and 2 to get 5.

18
7Tx5

Multiply 7 and 5 to get 35.

18

35

For more help, please visit our website www.exampaperspractice.co.uk
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Question 19
3
Without using a calculator, show that (ﬂ) o
16 343
2]
Write down all the steps in your working.
(49)_ 3 64
167 343
Calculate % to the power of % and get 3'3—4'13
64 64
343 343
Compare 3%:13 and 3%
Question 20 frue
. 1 c-d . L [3]
Write — + i ; as a single fraction in its simplest form.
c c

2
c

For more help, please visit our website www.exampaperspractice.co.uk
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Question 21

1+ 2
Work out the value of 3 4 [2]

5+6

Answer

99
% ~ 1.594594595

Question 22

d 310 ping, .
5735 7° )

Answer

c=2

For more help, please visit our website www.exampaperspractice.co.uk
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Question 36

Without using a calculator, work out

5.1
6 2
Show all the steps of your working and give your answer as a fraction in its simplest form.
5_1
6 2

Question 372

1

Exam Papers Practice

Least commaon multiple of 6 and 2 is 6. Convert % and % to fractions
with denominator 6.

3

6

Sl W

Since % and % have the same denominator, subtract them by
subtracting their numerators.

o
|
o

Subtract 3 from 5 to get 2,

| o

.2 . .
Reduce the fraction g to lowest terms by extracting and canceling
out 2.

1
3

Work out 3~ 4 , giving your answer as a fraction in its lowest terms.

Do not use a calculator and show all the steps of your working.

w| o
|
W= | =

Least common multiple of 3 and 4 is 12. Convert g) and % to
fractions with denominator 12.

Since Tsj and % have the same denominator, subtract them by
subtracting their numerators.

8§-3
12

Subtract 3 from 8 to get 5.

12

For more help, please visit our website www.exampaperspractice.co.uk
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Question 38
3.2 1

Without using your calculator, work out 2 +§ R

You must show all your working and give your answer as a mixed number in its simplest form.

3 2 1 34 3

4 3 8 24 24

Least common multiple of 4 and 3 is 12. Convert % and j} to

fractions with denominator 12. subtracting their numerators.

: L 34— 3
2 12 3 o1
Since ng and 1—52 have the same denominator, add them by adding

, Subtract 3 from 34 to get 31.
their numerators.

9+8 1 31
12 8 24

Add 9 and 8 to get 17.

17 1

12 8

Least common multiple of 12 and 8 is 24. Convert {7' and % to
fractions with denominator 24.

Question 39

Without using a calculator, work out £ l.

Write down all the steps of your working and give your answer as a fraction in its simplest form.
3.1
5 6

Least common multiple of 5 and 6 is 30. Convert % and %; to
fractions with denominator 30.

18 . 5
30 30

Since %—S and 3% have the same denominator, add them by adding
their numerators.

18 +5
30

Add 18 and 5 to get 23.

23
30

For more help, please visit our website www.exampaperspractice.co.uk
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Exam Papers Practice

Question 40

Without using a calculator, work out 2

S %3
8 7

Page 16

Show all your working and give your answer as a mixed number in its lowest terms.

Question 41

Multiply 2 and 8 to get 16.

16—0—5>< 3
8 7

Add 16 and 5 to get 21.

21>< 3
8 7

g 3
Multiply ZTI times % by multiplying numerator times numerator and

denominator times denominator.

21 < 3
8x 7

Do the multiplications in the fraction %1—-?

63
56

Reduce the fraction % to lowest terms by extracting and canceling
out T.

9
Without using a calculator, work out 11_2>< 1 8
Show all your working and give your answer as a fraction in its lowest terms. [2]

Multiply 1 and 5 to get 5.

1 (541
2\ 5

Add 5 and 1 to get 6.

1 (6
127 \5

denominator times denominator.

1x6
12 x5

Do the multiplications in the fraction 1%75

60

Reduce the fraction Gﬁﬁ to lowest terms by extracting and canceling

out 6.

1
10

Multiply ﬁ times % by multiplying numerator times numerator and

5

For more help, please visit our website www.exampaperspractice.co.uk
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Question 42

Without using your calculator, work out 11+ 13

12 0
You must show all your working and give your answer as a mixed number in its simplest form.
Multiply 1 and 12 to get 12.
Add 95 and 39 to get 134
12+7 i 13
12 20 134
Add 12 and 7 to get 19. 60
Reduce the fraction % to lowest terms by extracting and canceling
19 4 13 out 2.
1220
Least common multiple of 12 and 20 is 60. Convert % and }ma to ﬂ
fractions with denominator 60. 30
95 i 39
60 60
Since gﬁ and %% have the same denominator, add them by adding
their numerators.
95 + 39
60
Question 43
. . 11
Without using your calculator, work out 27, = 5.
. . — [3]
You must show all your working and give your answer as a fraction in its lowest terms.
Multiply 2 and 4 to get 8. Since % and % have the same denominator, subtract them by
subtracting their numerators.

§+1 11

412 27 — 11
12

Add 8 and 1 to get 9.

Subtract 11 from 27 to get 16.
11

9
4 12 16
12
Least comman multiple of 4 and 12 is 12. Convert % and %—12 to

fractions with denominator 12, Reduce the fraction %g to lowest terms by extracting and canceling

out 4.

27 11

12 12

Lo W=

For more help, please visit our website www.exampaperspractice.co.uk
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Question 44
2.07- 1.89
Calculate —————— 1
TS S 3.2 H
Answer
18
18~ 0.100558659
Question 45
Write the following as single fractions.
a)x+ *
@y 1]
3 11
Answer 5—12—15
2 1
(b)x + o [1]
x>+ 2
Answer
T

For more help, please visit our website www.exampaperspractice.co.uk
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Question 46

Work out 2+ 1- 1—, giving your answer as a fraction in its lowest terms.
3 6 4 3]
Do not use a calculator and show all the steps of your working.
Least common multiple of 3 and 6 is 6. Convert % and % to fractions Least common multiple of 6 and 4 is 12. Convert g and i to
with denominator 6. fractions with denominator 12.
4 1 1 10 9
676 1 21
12 12
Since é and % have the same denominater, add them by adding their . 10 Bl .
Since 15 and {3 have the same deneminator, subtract them by
numerators. 1~_ 1 :
subtracting their numerators.
4+1 1 103
6 4 —
12
Add 4 and 1 to get 5.
Subtract 3 from 10 to get 7.
5 1
6 4 T
Question 47 12

Without using a calculator, work out 1% - % -

[3]

Show all your working and give your answer as a fraction in its lowest terms.

1--'2—4 Multiply 9 and 7 to get 63.

N T A - . - 3
Divide === by = by multiplying by the reciprocal of =.

63
5x3

(Ix5+4)x7
5x3

Multiply 5 and 3 to get 15.

Multiply 1 and 5 to get 5.

63
(5+4) %7 15
5x3 o _ _
Reduce the fraction = to lowest terms by extracting and canceling
out 3.
Add 5 and 4 to get 9.
21
9 %7 5

For more help, please visit our website www.exampaperspractice.co.uk
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Question 48

4 2

Without using a calculator, work out 2 T

Write down all the steps of your working and give your answer as a fraction in its simplest form.

Divide % by 2—% by multiplying % by the reciprocal of —3—9 x348

Answer

4 x3
5(2x3+2)

Multiply 4 and 3 to get 12,

[3]
12
5(2 % 3+ 2)

Multiply 2 and 3 to get 6.

12
5(6+2)

Add 6 and 2 to get 8.

12
5 %8

Multiply 5 and 8 to get 40.

12
40

. 2 . .
Reduce the fraction % to lowest terms by extracting and canceling
out 4.

3
10

For more help, please visit our website www.exampaperspractice.co.uk
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Question 23

Without using a calculator, work out 1 %+ f;—

[3]

Show all your working and give your answer as a fraction in its lowest terms.

Divide 1—§i by % by multiplying 1—5;7 by the reciprocal of a

(1x8+7)x9
Bx5H

Multiply 1 and 8 to get 8.

(8+7) %9
8 x5

Add 8 and 7 to get 15.

15 %9
8xH

Question 24

7.5
Without using your calculator, work out 23+ 5-

Give your answer as a fraction in its lowest terms.
You must show each step of your working.

Divide Lg_—? by g by multiplying Lgi by the reciprocal of %

(2x9+T)x6
9x5

Cancel out 3 in both numerator and denominator.

2(7T+2x9)
3 x5

Multiply 2 and 9 to get 18.

2(7+18)
3 xh

Add T and 18 to get 25.

2 %25
3x5H

Multiply 15 and 9 to get 135.

135
8 x5

Multiply 8 and 5 to get 40.

135
40

Reduce the fraction % to lowest terms by extracting and canceling

out 3.

[4]

Multiply 2 and 25 to get 0.

50
3xhH

Multiply 3 and 5 to get 15.

50

15
Reduce the fraction ?—2 to lowest terms by extracting and canceling
out 9.

10

3

For more help, please visit our website www.exampaperspractice.co.uk
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Question 25

Without using a calculator, work out l4+ l6 :
Write down all the steps in your working and give your answer as a fraction in its simplest form. [2]

Least common multiple of 4 and 6 is 12. Convert :11 and é to
fractions with denominator 12.

3 2

12+12

. 3 2 . .
Since {7 and 73 have the same denominator, add them by adding
their numerators.

3+2
12

Add 3 and 2 to get 5.

Question 26
(1.7 ;3]

8  Without using a calculator, workout ~ 6 8
Show all your working and give your answer as a fraction in its lowest terms.

Divide l_vE;l by ; by multiplying l—g_—l by the reciprocal of % Multiply 4 and 7 to get 28.

(Ix6+1)x8 28
6 x 7 3x7

. Lrd [
Cancel out 2 in both numerator and denominator. Multiply 3 and 7 to get 21.

28
4(1+6) =
3x 7
Reduce the fraction %if to lowest terms by extracting and canceling
Add 1 and 6 to get 7. out 7.

Lo | W
XX
=1l =1
Lo W=

For more help, please visit our website www.exampaperspractice.co.uk
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Question 27

| W

| W

| Wt

. . 5 1 1 . .
Without using your calculator, work out % - (5 X 1?)- Write down all the steps of your working.

Multiply 1 and 2 to get 2.
(3]
Least common multiple of 6 and 4 is 12. Convert 3 and % to

o } w 2+1 fractions with denominator 12.

2 2
Add 2 and 1 to get 3. 1_[] - i

12 12
1 . 3
2 2 Since % and 1—92 have the same denominator, subtract them by

subtracting their numerators.

Multiply ’12 times % by multiplying numerator times numerator and
denominator times denominator.

10 -9

1x3 12
22

Subtract 9 from 10 to get 1.

Do the multiplications in the fraction %

5 3 S
6 4 12
Question 28
10 Without using a calculator, work out 1% - 3 03]
Write down all the steps in your working.
Multiply 1 and 4 to get 4. Since 313} and %—g have the same denominator, subtract them by
subtracting their numerators.
4+1 7
4 9 45 — 28

36

Add 4 and 1 to get 5.

Subtract 28 from 45 to get 17.

= | o
o~
-
—.."l

Least common multiple of 4 and 9 is 36. Convert % and % to
fractions with denominator 36.

45 28
36 36

For more help, please visit our website www.exampaperspractice.co.uk
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Question 29
15 Do not use a calculator in this question and show all the steps of your working.
Give each answer as a fraction in its lowest terms.
Work out.
3 1
(a) vy — o Subtract 1 from 9 to get 8.
Least common multiple of 4 and 12 is 12. Convert % and le to ©
fractions with denominator 12. 12
9 1 Reduce the fraction % to lowest terms by extracting and canceling [2]
E - E out 4.
Since 1% and 1—12 have the same denominator, subtract them by 2
subtracting their numerators. —
3
9-1
12
1.4
(b) 2_2 X75 Multiply 2 and 2 to get 4. Multiply ; times % by multiplying numerator times numerator and
denominator times denominator.
4+1 ( 4 ) o
2 25 2% 25 [2]

Adddand1to get 5. Do the multiplications in the fraction ;—%

5 (4 =
2 25

.o . .
Reduce the fraction % to lowest terms by extracting and canceling
out 10.

w8

Question 30
5 Showthat 13+7 =8

Do not use a calculator and show all the steps of your working.

Divide 1—5;1 by 1_36 by multiplying 1—%_—1 by the reciprocal of 1_36

Multiply 8 and 3 to get 24.

(1><2+1)><16_8
2 %3 - 24

Cancel out 2 in both numerator and denominator.

Divide 24 by 3 to get 8.
8(1+2

81+2) 4

3 8 =8

Add 1 and 2 to get 3.

Compare 8 and 8.

3 True

For more help, please visit our website www.exampaperspractice.co.uk
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Question 31

Without using a calculator, work out g + 123 . Write down all the steps in your working.

Divide g by l—% by multiplying g by the reciprocal of l—? Multiply 1 and 3 to get 3. [3]
6 x 3 7(%1782)
e 5+
7T(1x3+2)

Add 3 and 2 to get 5.

Multiply 6 and 3 to get 18.

18
18 7 x5
T(1x3+2) .
Multiply 7 and 5 to get 35.
18
Question 32 5
Write down all your working to show that the following statement is correct. 1 4+38 34 2]
9 ==
1 45
2+L
2
Convert 1 to fraction g Convert 2 to fraction % ‘ Divide -15: by ;} by multiplying % by the reciprocal of -_}
9 8 -
§+?:34 i 34 %x(%):%
2+1 4 LIT5 T
9 8 Multiply 10: times % by multiplying numerator times numerator and
Since g and g have the same denominator, add them by adding their Since %1 and % have the same denominater, add them by adding their denominator times denominator.
numerators. numerators,
17x2 34
9+8 7 15
T E % 24 9x5 45
T = 7 —
2+1 45 4l 45 1722
= Do the multiplications in the fraction 'Q'_§
Add 9 and 8 to get 17. Add 4 and 1 to get 3. 4 34
45 45
17 17
E} = 34 E = 34 M X!
1 5 C = and =
2+ ! 45 2 45 ompare Iz and 3=

True

For more help, please visit our website www.exampaperspractice.co.uk



Question 33

2
+ J—
5

1
Show that | —
10

Write down all the steps in your working.

Calculate ﬁ to the power of 2 and get ﬂlllj

1 2\’
2 (2) —oar
1nn+(5)

Calculate %; to the power of 2 and get %

1 4
m‘kﬁfn.l?

Least common multiple of 100 and 25 is 100. Convert ﬂ}U and % to
fractions with denominator 100.

1 16
m+m =0.17

=0.17.

Exam Papers Practice

Since ﬂ\lU and ﬂlj% have the same denominator, add them by adding
their numerators.

1+16
100

=0.17

Add 1 and 16 to get 17.

17

100

0= 0.17

Convert decimal number (.17 to fraction ﬁ]‘ﬁ

17 17

100 ~ 100

Compare 1%70 and T]D%

Question 34 e
Without using your calculator, work out 1 549
10
You must show your working and give your answer as a mixed number in its simplest form. [3]

Multiply 1 and 6 to get 6.

6+5 9

6 10

Add 6 and 5 to get 11.

11 9

6 10

Least common multiple of 6 and 10 is 30. Convert % and % to

fractions with denominator 30.

55+§
30 30

Since i—% and %—E have the same denominator, add them by adding
their numerators.

55 + 27
30

Add 55 and 27 to get 82.

82
30

-] . .
Reduce the fraction %‘j to lowest terms by extracting and canceling
out 2.

41
15
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Question 35

=

Exam Papers Practice

L
2 3 4

Work out the value of p. Show all your working.

[2]

Multiply both sides of the equation by 12, the least common multiple

of2,3,4,12.

6(1x2+1)+4+3=p

Multiply 1 and 2 to get 2.

62+1)+4+3=p

Add 2 and 1 to get 3.

6x3+4+3=p

18+4+3=p

Multiply 6 and 3 to get 18.

Add 18 and 4 to get 22.

2+3=p

Add 22 and 3 to get 25.

25=p

Swap sides so that all variable terms are on the left hand side.

=

p=25
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Least common multiple of 2 and 8 is 8. Convert — § and § to
fractions with denominator 8.

Since — 4 and § have the same denominator, subtract them by
subtracting their numerators.

Subtract 3 from —4 to get — 7.





